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gooo, bobooobgooo.

() 0000000 n(n>1)000000000000000000000 p(n)000.
(a) P()OOOO.
(b) P(2)0000.
(c) P(n)0D0DODO.
(2) n000D0000000D0000000O000000.
(3) 1000000, »n00000000000000000000000000.
(4) i(1<i<n)000000000, n00000000000000000000000000.

(0000 27)00 (D000 s273507)

OpPOODO (0,0000000, DODOOOOO

YA
goOoOo. 100000000, (4,3)
rpO0O0d 1D zr00ooooo1o004g,
3 2 (2,1)
2 3 >
DDEDyDDDDDDDlDDDD. T(O,)
P/ T
gogooooooo. 3

(1) O POODOOO, OODDOD (4,3)000000000000
(2) O PO70000000 (4,3)00000000000

(3 O POODOOO, OOODOO (4,3)00000ODOOOO,
O (2,))000o0oooooooooo.

(4 O POOOOO, 00000 (4,3)0000000000, O POOO (¢y) 000000
4<3:0000000000000.

(5 0 POOO (2,y) 0 70000000 4y<3:000000, 0PO70000000 (4,3)
00O00D00000000000.
(0000 27)00 (0000 s274705)
0000000000000 60000001000000000000. 000, 0000000
00000 1/3, 000000000 2/3000. 000 (1),(2)0000.
00, 0000000000000.

(1) 60000000000000000000O0. 000O0O0000.
(2) 3000000000000000000000. 00000000. b1roooob

(00000 2700 (0000 s275413)
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16.14 00OO0OO0OO0OO0OOOOOOOOOOO, OO0, COoOOobOOO0OOOoO0OO0OobO0OO0O0oo0boooboooon

16.15

gbo. ooboogobogoobooo.

() 0000000000 X[O/m3), 000 ¢k), 00000 k[1/A)000, 000000000
000000000000000000000000000000000

dx
Z=Lo Jlo]
(2) 00¢=0000000000 Xo[0/m®| 000, t0000000000000000000

oooo. oo, oooooooooboobooog.

(3) 00000 k[1/R)00000000000. 370 0000000000000 k[1/A0 200
000, 0000 Xe[0/m? 0 X,0 10000000000000. 000, 000 37C0
0000000, log,10=2302000.

(000000 27)00 (0000 s276404)

lgooooooooboooooobo, oo 200000O0O0DODO0OOOOOOODO, oOoOoOg, O
gooobooboooon.

() 000000000000 (k>000000000000,
(2) 00000000000 D0O0O00O0O00O00,

(3) 00000000000 UDO 20000000, 0000 (n>0)000000O000O0O0O
ubooobOdg, oboooobooooboooooooa.

(00000 27)00 (0000 s276508)
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